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Ideals for irreducible component#ﬂ)f Xpar

I = (u? —u® 4 = 2u+1)

* 1 irreducible components of dim¢ = 0, with total 23 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u®®—u?2+... —2u+1)

w= (o)
- (
o=
-
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(

—ul® —5u® — 6wl +ut +u+1
ul® 4+ 6ud + 11ub + 6u* 4+ u?

w’ + 4u® + 4uB )

as = \u® +5u" 4+ Tu® +2u3 +u
—u?t — 120" 4+ — 20
agz _u22+u21_~_.._u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes
= —4u22 4 4021 — 56020 4+ 52019 — 324418 + 276117 — 99616 4+ 76405 — 17440t + 1172013 —
1748u'2+1000u' ! —988u 1045041 —304us +188u” —8ub+32u® +12u* +12u3 +4u2 — 16u+2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C5,Cg u23_u22+_.__2u+1
€10
C2,Cq u®® —u® 4 4du+5
c3,Cg, Cy uPB w4+ 2ut1
7 u®® — Tu®? - 40u — 17




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,Cg y23+27y22+_4y_1
€10
2,4 y? —1Ty*2 . — 144y — 25
€3,C8,C9 923+19y22+"'_4y_1
¢ y*® —9y* + -+ 4+ 1260y — 289




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1CS)

Cusp shape

u =

0.473302 + 0.7389231

0.16340 + 7.253421

—3.09734 — 7.258021

u =

0.473302 — 0.7389231

0.16340 — 7.253421

—3.09734 + 7.258021

u = —0.413689 4 0.7618681

—4.21185 — 3.220311

—8.22079 + 4.904431

u = —0.413689 — 0.7618681

—4.21185 + 3.220311

—8.22079 — 4.904431

u =

0.324148 + 0.8027071

—0.817157 — 0.7453081

—5.08009 — 0.735221

u =

0.324148 — 0.8027071

—0.817157 4 0.7453081

—5.08009 + 0.735221

u = —0.477903 + 0.4513611

4.96840 — 1.680401

2.82272 4 4.299911

u = —0.477903 — 0.4513611

4.96840 + 1.680401

2.82272 — 4.299911

u =

0.581337 + 0.1087091

2.00599 — 3.664571

0.82434 + 2.671331

u =

0.581337 — 0.1087091

2.00599 + 3.664571

0.82434 — 2.671331

u = —0.546774 —2.00773 —4.01170

u = 0.228067 + 0.4672691 —0.140168 4 0.9259191 | —2.94249 — 7.442141

u = 0.228067 — 0.4672691 —0.140168 — 0.9259191 | —2.94249 + 7.442141
u = —0.08584 + 1.508081 —1.46467 — 3.535911 | —1.36507 + 3.240611
u = —0.08584 — 1.508081 —1.46467 4 3.535911 | —1.36507 — 3.240611
u= 0.03322 4+ 1.557791 —7.11725 4 1.68405] | —6.35516 — 3.830251
u= 0.03322 — 1.557791 —7.11725 — 1.684051 | —6.35516 + 3.830251
u= 0.13674 + 1.618941 —7.87123 4 9.546641 | —5.28748 — 5.578991
u= 0.13674 — 1.618941 —7.87123 — 9.546641 | —5.28748 + 5.578991
u = —0.11785 + 1.624831 —12.38020 — 5.227481 | —9.66631 + 3.334321
u = —0.11785 — 1.624831 —12.38020 4 5.227481 | —9.66631 — 3.334321
u=0.09185 + 1.628141 —9.14246 4 0.833371 | —6.62647 + 0.438881
u= 0.09185 — 1.628141 —9.14246 — 0.833371 | —6.62647 — 0.438881




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,Cs,Cg u23—u22+---—2u+1
€10
C2,Cyq uB w2+t du+5
c3, Cg, Co uB e+ 2u+1
cr u — Tu?? 4 4 40u — 17




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C5,Co YR 2myP 4 —dy—1
€10
€2, Cy B — 1Ty 4 — 144y — 25
€3,C8, Cy v 19y e~y — 1
cr y? — 9y?2 + ... + 1260y — 289




